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Elecwiced Networks Analysis £ Sunthesis
QP Code : 551001

(3 Hours) | Total Marks : 80

N.B. : (1) Question No. 1 is Compulsory.
(2) Attempt any three questions from remaining five questions. ..

1. Attempt any four : ; :
(a) Find V _in the circuit shown using superposition theorem. = 29

(c) Test whethéi; Humﬁtz or nei
P (s) = s%12s*$4557+60s* +445+48
(d) Inthe given network, switch is closed at t = 0, with initial conditions = 0 ;
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(e) FindI,,using Nodal Analysis.
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(b) FindY - param ;I:VEH neiwork. -
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shown. find the values of 10

&Q‘ the network given below, switch is opened at t = 0 with initial conditions as

1 dv .
1,\!2, —zattlmetz 0*
dt
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(b) Find Vx 10

4. (a) Inthe network 'Mh is opened at t =0 ; find i (t) . 10
ﬁ
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(b) For the network det. I, and I,

Vs I,

1 II
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(b) For the given tree find
(i) Incidence matrix and
(i) CutsetMatrix
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6. (a) Check for positive realness &}
2S% +2S+1
F(S)=
5) S} +28% +5+2

(b) Realize the following functions using Foster I and Foster -I1 forms O 10
sl (s+1)(s+3)

S(s+2)(s+4) ’K‘o‘




